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PAIRS ACTIVITY 
Revision

In pairs, answer the following questions:

	
1. Describe the difference between transactional and transformational engagement.

2. Give three characteristics of strategy.

3. What are the stages of the ‘employee life-cycle’? (Clue – there are six of them). 

4. Give three factors that should be taken into account when designing an engagement strategy. 

5. What are the five stages in designing and implementing an employee attitude survey?

6. Describe the links between the following:

a. Recruitment and selection and employee engagement.


b. Performance management and employee engagement.


7. Give two examples of ‘employee voice’ and explain how each can assist with high levels of employee engagement.

8. How can an organisation overcome resistance to change? Give three examples.

9. How can leaders in an organisation help to overcome negative attitudes towards employee engagement strategies? Give three examples.

10. How can the organisational culture support high levels of employee engagement? Give three examples.
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